
Enoncé : 

Déterminer la limite de la suite : 

     
 
  

 

 

     
 
  

 

 

 

 

Solution : 

Posons :           
 

 
 
 

               
 

 
 
 

  

alors :  

        
 

 
 
 

        

        
 

 
 
 

        

On en déduit : 

   
    

        
    

        

Notons que pour     :                  et on a : 

 

      
 

 

   
 
  

  
 

    
 

Soit : 

    

      
 
   

 
  

 

   
 
 
 
  

      

    
 

Or : 

    

      
 
    

    
 

      

    
 
    

    
 

Donc, d’après l’encadrement : 



    

    
 
   

 
  

 

   
 
  

    

D’où : 

   
    

     
 
  

 

 

     
 
  

 

 

   

 


